ITEM| QTY | PART NO. PART DESCRIPTION LENGTH UNIT WT. NET WT.

113 X—LWRM RING MOUNT WELDMENT 65.47¢ 196.414#

2 [ 3 [ x=wwMo1 8" STANDOFF_ARM 20.43¢ 61.294

33 P360 3” SCH. 40 PIPE (3 1/2” 0.D.) 60" 37.97¢ 113.914

4| 6 SCX7 CROSSOVER PLATE 7.554 45.30¢#

5 [ 12 [ X-115765 5" V—CLAMP 1.024 12.244

12" TO 45" 6 | 9 G58R—24 5/8” THREADED ROD 24" 1.69¢ 15.21¢#
POLE DIAMETER 6 | 9 G58R—48 5/8” THREADED ROD 48" 3.384 30.424
7 | 12 | As82112 5/8" (A325) HEX BOLT (HDG) 2 1/2” 0.224 2.644

8 | 30 G58LW 5/8" LOCK WASHER 0.02# 0.60#

9 | 30 A58NUT 5/8” HEX NUT (HDG) 0.124 3.60#

10 | 18 [ X-UB1358 1/2" X 3-5/8" U—BOLT 5 1/2" 0.77# 13.86#

11 | 84 G12FW 1/2" FLAT WASHER 0.014# 0.84#

12 | 60 G12LW 1/2" LOCK WASHER 0.014 0.604

13 | 60 G12NUT 1/2” HEX NUT (HDG) 0.05# 3.00#

14 | 24 G12045 1/2" (GRADE 5) HEX BOLT (HDG) 4 1/2” 0.37# 8.884#

14 | 24 G12065 1/2" (GRADE 5) HEX BOLT (HDG) 6 1/2" 0.53# 12.724

TOTAL WT. 5484

POLE DIAMETER
(REF)

\ o
2-3/8" T0 4-1/2"

48 ‘ ANTENNA PIPE
w (TYP) ! (ORDER SEPARATELY)
M M

USTABLE

DETAIL A

I DETAIL B

PROPRIETARY NOTE: DESCRIPTION

THE DATA AND TECHNIQUES CONTAINED IN THIS DRAWING ARE DUAL ANTENNA POLE MOUNT ASSEMBLY

PROPRIETARY INFORMATION OF VALMONT INDUSTRIES AND 17 3/8" STANDOFF va mon

CONSIDERED A TRADE SECRET. ANY USE OR DISCLOSURE N b

WITHOUT THE CONSENT OF VALMONT INDUSTRIES IS STRICTLY 127 TO 45" MONOPOLE DIAMETER 1-877-467-4763 Plymouth, IN

PROHIBITED. 1-888-880-9191 sSalem, o  STRUCTURES
TOLERANCE NOTE: DR BY CPD NO. | DRAWING USAGE PART NO. -
TOLERANCES ON DIMENSIONS UNLESS OTHERWISE NOTED ARE [BMC 1/25/2010 CUSTOMER RDS—NP o2
(PLUS OR MINUS) MACHINING 0.030" AND STRUCTURAL 0.060".[ENG. APPROVAL CHECKED BY DWG. NO. ]

REV. DESCRIPTION OF REVISIONS [ ceo [oy | oae BENDS ARE (+ OR —) 1/2 DEGREE. MVC  01/25/2010 RDS—NP N




